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Bes= - 73952 00188 00965

Ch3. cnsoff sEREERISIRL 2 &1 RT .
7, BEL RXosFm
O L OB 0 R BEAERIT> T 285 11T 3.
O&e) ask B iF %

e = .136,-T , &, =54,

J= -.678,-17,
dp= = & O ds = -.680,-6,
dgs = .678,-6, r = .204,~5,
J“" = -.203,-5, é&;"/oJZI‘ - 136,-6,
S = .270,-6, G g --678,6,
8413 = .474,,-6, Gu=188,= 203,46,
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Iy= =:256,-6, dp= .155,-5, dp= -.397,-5, = -.106,-3,
Jpe= =+198,-3, &= -.198,-3, Jdp= .390,75, dp= 3173,
Tg= 631,73, e 231973, &= -.384,-5, dp,= .294,-4,
J;ls: ~.264,-3, 5;14: -126,-4, &)= -.236,-3, 'J;,‘n -.106,,-3,
| J;Hg 2293573, Jre= —-106,-3, = .379;,—4, Fpa0= =+315,,-3,
dya= =+3TT=4s Jp2a= 909,73, &= -.115,-4, & = .648,.4,
Jpa™ +305,73s = =0292,-3, &= -.384,-5, dp= -.389,74.

AR ATHENE) Roviz, BB f 855w, 1y
AWERFHIIT 3Rz R KERMY 3. =i,
T 15yl , Lothin %0, Shanks® NEH ¢ KauAL L TH
zdoraBH LT A3 X8I RT3,

R " T
I J‘z&;/w Z193] | Lothan#n 1];,&,-/:3 > 9|

g 4% | .8%6 -6 | 795 -5 | .441 -4 | 270 -3 | 484 -2
|

Shankss') .196 -4 187 -3 .104 -2 n «253 =3 .466 -2

cokons, FaRETHTL, 049 oL 1T ORY)
m?L AR RTERTIZERETH I tavba 3, #5717
AEBRTBETT WIBY, T 9% L2 T FB ORN ¢
B9, EEsc LRAOBKNL V2B,
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1;:1 ,) d'ﬂ- - -
Xy - - Y/
A= = - 3 . %(2>"i s 'R~O.‘ » 5(1): | +x3
Xm Yn m = 5(1"!)
Ao TS . 0.8771074973636819 0.2967D-08
»Emi 7 4 2‘1
iR 0.8771074972738272 0.2878D-08
Shaebs 0.8771075016091511 0.7213D-08
Y (Xn) 0.8771074943962579
2.20 0.7726648373145431 0.2150D-08
233435431
0.7726648372514301 0.2087D-08
0.7726648403653626 0.5201D-08
0.7726648351648352
2)

» 4
ﬂ"" - ex(‘&s“'xf‘i‘l) _ E"ff)‘
ax - eaﬁ(xex_‘ é) s 3(0>= 1 » £=é.]’ 3(1)__ (_6_4_?

L Y Yu— Y(Xn)

Zfhék 0.100 1.012061460169105 -0.2546D-11
e

y =<' 1.012061460169008 -0.2643D-11

Shonkes 1.012061460187909 0.1626D-10
%(zu) 1.012061460171651

0.20 1.0262729925912856 -0.4549D-11
Y-S

1.026272992591137 -0.4698D-11

1.026272992621081 0.2525D-10

1.026272992595835
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